1surl

9x2

10x2

NUMERO

Y I S

12

DESIGNATION
Support antivol
Téle support accessoires
Calculateur
Vis BHC M6*20 C10,9 ZFN
Canon de poignée
Vis BHC M5*10
Clips écrou M5
Ecrou autofieiné embase M6
Rondelle ZSN ZFN
Ecrou HM5 ZFN
Support de relais

Support accessoires 541

CODE PIECE
FO1 54 100 CX
FO1 54 108 EX
DO1 33 116 XX
Q01 V0 016 XF
FO1 54 116 XX
Q01 V0 005 XF
FO1 54 118 XX
Q01 E0 006 XX
Q01 N0 003 XF
Q01 E0 003 XF
FO154 114 CX




